B 1 ZHHNMEERTEYHUXERE (BIEEZER) rUBRL (82 6 fE HRTHISE)

16Q3 58% —

16Q4 52% —

17Q1 52% —

17Q2 59% —

17Q3 53% —

17Q4 56% —

18Q1 55% —

18Q2 54% —

18Q3 63% —

180Q4 63% —

19Q1 59% —

19Q2 63% —

19Q3 63% :  — ‘
50% 100%

BESH eBAS

Jrasah =
B2 SRTELEMH /M SRR AR S
16Q3 71% —
16Q4 81% -
17Q1 79% -
17Q2 2% —
17Q3 65% —
17Q4 64% —
18Q1 74% —
18Q2 80% —
18Q3 91% -
18Q4 64% —
19Q1 83% -
19Q2 84% -
19Q3 [ 63% - ‘
50% 100%
BESR = RE
==y ay
B3 FrEsKEFENER

16Q3 17%

16Q4 20% (0]

17Q1 25% 22%

17Q2 42% S

17Q3 40% I

17Q4 26%

18Q1 41% I

18Q2 3190

18Q3 690 M1 Y/

18Q4 38% N

19Q1 41% I

19Q2 13% 26%

19Q3 [ 15% u 48% Y ‘

50% 0% 50% 100%

ik - HRURERAA - BEFEIIRARLER 100% -

WORERTh = RSN mERTh

Bt



